
e+*;.Jtisl*tt

de^lt .JrJSilt-r !:.L-.eJt a;;Jt ;-rt-l,

-r:énl_r i#;u! a;$âll q.;'rtsYt

.,,Uy - 
"*Li 

i*+

JJÂ,a eltt i.$

a*tSlyf crf-,r.rJl ôrQ,,i d+ûJ sidl. T1 ,-J nll ôlsi.Yl

ÉL*--,àt CJJf ; ôrLr

2015 94. -*

d,ajg 4cU

5
I

1 8 ,

(âÀ3i Z0) r-rl,,,rllg rl.rcïl Â!,i.ii

7 7 8 L 3 2 0 3 1 3 6
1 f t  ;  t * ;  t t  ;  r e  ; t * ;  L ;  

t *

(Iii a) .+-U^ll j^jl Jl*,i*L h+tj U$j 4Jlilt .rtrryt +Ji (1

(5406.0L- 99,98) +- 4L6.27

(eIÂ: LZ ):qlLill ,.:l+L*ll j+ii ; e.i (2

r . . . . . r . r .  . . . ( 3 p t s )

( 3 pts)

736,98 x 6.7 = (mt')

1 / 4

https://motamadris.ma/


w

339.75 + 75 (3pts)

a l a  l a o  a t a  a a a  a r a  t a a  t a a  a a a  a a a  t l t  a a i l  r a a  a a a  a l t  a a a  a a t  a a a  t a r  l a a

l a a l l a  a a a a a t  a a r  r a a a a a a a a t a a a a t  a a 0  a r t r r l  r a r a a a a a a t a a a t

a a a  a a a  a t l  a a a  a r a  a r a  a a t  a a t  t a a  a a a  a a r t  t a t  a a t  a a a  a a a  a t a  a a a  a  a

( Ë 4) .,-r;Jt Jl eJ:+Jl #f (3

420 L80 L06 ea-r.lh cr Éiill 1.J$ ù^.ill
25% 30% 20% Y o ç U ^-.rË{ill 1+-i

90 L80 *-r$! ÈF\iiill LS

(o z1 60'

( lil oe
k#S B(

2 l e

4*,gl IÀ.ili .ll

C t:lj ir-i':î (1

https://motamadris.ma/


(2
eBc - To" '*!*i A qf LJljll etÂ ngCO

(or; [na1= 4 cm r

i .=i4 q+..j, 
l-ti o

DCI = 2,5 cm-l

(o z1 f  DÊBâ l ; l l  r;,$ ,,,.,,r1 r

riil r k+13 ,ra e l=JË. Ls 4'l"à drt ei'-r. ,Js.-l é 4J.àJ
.ol ++.= o+

-.,8 1 I 4Lt d+'J"i...* ,JÉ.1 é lJ," ÉlJj {l Ub. tr*=l â.i

(of1 'â11 
". (3

erÀg r."* I ,sll u

$^ll r*lJt i*
4-=L'* *.ô1*

Ll J e.^à;e 3

( ÂÀti ) u"t+il Âla-iil . l l  l
(ûÈ'3til ++.' cJsl -Ua 08)

t  *  r rr;."=1 3 fu:Jt*Jl i Jt J! (.J_'=î (1

0,?5 ha34 damz L+66 mz = . . .

? 1 4

https://motamadris.ma/


9  k m 4 2  d a m  =  - - . . i , . . .  i ' r .  h m

a l l  l l a  r . . . t t  t t t t a a  r . a  t t a a t t  t t a a a .  a a t  
l t e r r t r a . . t t  

t l r

a a a a a a t a a a . r . r . . . . r a r . r . r . .  a a . . . r  r a i  
J r . . . a a a a t a a a .

5 d l  7  da l  :  . - .  . , ,  , , ,  , r .  cm3

. ! r  a r a  r . r r . ! . r r r r r . . a  r . r . ! t  r t t . . r . . ! ] r r r r . r r . . . r r r r

. . t  a t a  l a l . . a . . . t t t  t t a  r . r . . . ! t a a a r  a a a  
J f  

r r r r  i . r . . . ! ,

4 1 0 5  t  3 6 6  l t g  =  . . .  
1 , , . . r  r r t , , . . . , . e

t t a t t l  t l r . r . r . . . a a a t a a r t . r r . . t  t t t  a . .  

J f t . r r t t a  
t . r r . .

r t t  t a t t t t  l t t r . . . r t t t a  t t a a t i r . .  r . t  t l t  
J f a . . . r ! ! t t t  

t t

- f t+)tJt"""(z

LJS=ô 
"ts 

3À* Ë_r_l_jË

il3 Jl Ë*:L. ËsjÂll

(n =3.14 )

l ! l  l a l  l a a a a a a a a  a a t  a a t  t t t  a a t a a a  r a l

l a !  ! ! l  a t a  l a a  r a a  a ! a  a a t  t a t  a t a  a a a  a r a  a a a  r a r  a a a  a a a  a a a  a a !  a r l

r=f. ls--

n I n- r  4

https://motamadris.ma/


aotlt .fllÂr,rrll ar{Ifu..Jipl r tr,llgbpl e-r.ar

ûl"$.i/.li e"+J

"rrb fd"lA.ç

(A!il Z0) g1,,.*rlg .rlrcTl iÀ,i-ii .l
(0.5x 8) (Ë a) .,-.UJl j^jl dl",i.,,b b+lj bSj ql$t rt.rrïl +_rl (1

1 5 7 1 3 3 6 7 8 2 0 3
1 8 < G

(iÀir 12 ) :4*lUJl ,:g*,Jl j+i r C+l

(3 pts)

# (3pts)

(:p' ')

(3pts)

( -til 4 ) :çJt^Jl ç.r*,,= 1.J_1.+Jl e^i

(u z1
( !3j 0g) 4+-,sa ilr-ilf .1

60" k "S eÔn q_,U (1

(2

5306.03+ 4L6,27= 57ZZ3

( ;  )+ ( ; . ; )  = ï ;  + f  :

736,98 x 6.7 = 4937.7GG

3 3 9 . 7 5 +  7 5  =  4 . 5 3

(3
420 L80 600 L06 eÀ_.r$h ,Jà+irïl d$ ùrill
25% s0% 30% 20% % + LÈJiÀlJl 1+,ù

L05 90 1.80 2L.2 eÀ_.r:lh LÈJiÀlJl L$

https://motamadris.ma/


(2
(Ot) ,-iJ'14 4+.& ir^"rT .

360-(70+90+90)= LL0":(û 2) U in lrl;l l .l*S
(og1 :;Jr"* (a

:.,$ Jasl o+a* 4=L,.,*

(,i 0.75) 1+lsJl 4-=1Jl (1S*15)= ZZsmZ
(r.i 0.75) a+i$Jl 4=lJl 225*L/3=75m2

(,i 0.75) J" ll k# Lq 4!i;.*ll 4-=t-,* 225m2- 75m2=L50m2
(r.:' 0.75) *)Â r.r:{ 4fu.=ll 4-=l-^.* L50mz-24m2=L26mz

1 a-Ui: 12 ) g"l+Jf il*:,ii .lll
.!J=lll alri) (,itlt!t 4J^' cJsJ-Uii 0B) ,.r,.'*i J 4+JU^ll ô-r=;Jl ,JJ ,Js-i (f

(fuLt çlÉl ul*"=JI A-tiiJ

0,25 ha 34 damz L466 mz - 73.66 a,

9 km 42 danl : 9+.2 hm

5 dl  7  dal :  70500 cm3

4,05 t 3 66 hg : 40 .866 q

( I i i+)eJ i - "^(Z

((2.Lx2.1)x3.14) =L3 .8474 cmz: (û1) Ërc'Eill 4*1.-*

1 3.847 4 * T : g6,g31$cm3 ((u2)o1) Ë;3i-ilr n+-=

96,93l-Bcm3 *'=
3

: 64.62L2 cm3 4*. l+.jJb ,.'ll 4J-S

2 / 2

https://motamadris.ma/

